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OUTEL#H): 369 INBELKV: 141516

(R PRt )
. KK 46 45 91 28.8 62.2 ANE
HEAR I /NEE 46 46 92 28.8 63.2 ANE
3 fir P Z&iA 51 42 93 28.8 64.2 ANE
4 B fli— 48 43 91 264 64.6 ANE
5z ST B 45 39 84 19.2 64.8 ANE
6 fir HHT Hhisk 39 43 82 16.8 65.2
7 fr BuR 1EHH 46 44 90 24.0 66.0 ANE
8 iz FEMT 2id 56 47 103 36.4 66.6
9 fir Py P 49 47 96 28.8 67.2
10 {7 HfiAS HER] 49 45 94 264 67.6 ANE
11 £z IREISS 55 49 104 36.4 67.6
12 fiz A1) 5ATG 54 50 104 36.0 68.0
13 fiz = 47 48 95 26.4 68.6
14§ SEaE 51 44 95 26.4 68.6
15 fiz I 55 48 57 105 36.0 69.0
16 fiz e EX 50 48 98 28.8 69.2
17 7 FH EE 49 42 91 21.6 69.4
18 fi [ 45 46 91 21.6 69.4
19 fiz BN 2R 55 48 103 33.6 69.4
20 fir RIF w s 53 50 103 33.6 69.4 RE
21 iz B RG] RR 45 44 89 19.2 69.8
22 fir WK BEE 44 38 82 12.0 70.0
23 fif VSN FS 58 48 106 36.0 70.0
24 fif BN R 50 37 87 16.8 70.2
25 L St e ] 49 50 99 28.8 70.2
26 fif il 2— 49 50 99 28.8 70.2
27 i WS IR ¥ 50 42 92 21.6 70.4 L
28 fif Bk 46 46 92 21.6 70.4
29 fir NS 54 50 104 33.6 70.4
30 iz B P 49 48 97 264 70.6 TRE
31 L s 2 47 50 97 26.4 70.6 AR
32 fif %6 & 57 45 102 31.2 70.8
33 fif FTIRE 44 39 83 12.0 71.0
34 fir HiEE =5 43 40 83 12.0 71.0
35 fir PaH %15 53 42 95 24.0 71.0
36 fir J5 5 52 48 100 28.8 712
37 fir B B 41 40 81 9.6 71.4
38 fir Jg £ 1 37 44 81 9.6 714
39 fir fhe e R &l 52 41 93 21.6 714
40 7 AN R 49 44 93 21.6 714 TRE
41 fr I NIT=Y 48 45 93 21.6 714
42 fr R X 47 46 93 21.6 714
43 fir LI #h=% 53 52 105 33.6 71.4
44 fr S NVER 44 42 86 144 71.6 2347
45 {1 NP FERR 48 50 98 26.4 71.6
46 fir ESURIERT 50 41 91 19.2 71.8
47 iz /N B 50 46 96 24.0 72.0
48 fir INARR SR, 47 42 89 16.8 722
49 fir Eiigs 44 45 89 16.8 722
50 iz O A 56 53 109 36.4 72.6 RE
51 4% il B — 48 44 92 192 72.8
52 fir Ly B — 52 45 97 24.0 73.0
53 fir I 50 47 97 24.0 73.0
54 fif HE Al 52 45 97 24.0 73.0
55 iz PR EE 38 40 78 4.8 73.2
56 iz i AR 45 45 90 16.8 73.2
57 iz R NP/ 50 45 95 21.6 73.4
58 fif BH I 75 A 50 45 95 21.6 73.4
59 {7 Lyl A1 49 46 95 21.6 734
60 {7 T Bl 48 59 107 33.6 734 RE
61 iz B KRER 43 50 93 192 73.8
62 fiL /NI FZ 53 52 105 31.2 73.8
63 i/ Wl ¥ — 54 51 105 312 73.8
64 fir AR IR 39 40 79 48 74.2
65 fir i 51 40 91 16.8 74.2
66 7 eIk I 45 46 91 16.8 74.2
67 ir U ISR 48 43 91 16.8 74.2
68 fir IR 1E 55 48 103 28.8 74.2
69 iz =]l W 53 50 103 28.8 74.2
70 fr b 1| 282 51 52 103 28.8 74.2 RE
71 4% e =517 43 41 84 9.6 744
72 % B = 46 50 96 21.6 74 4
73 ir iR PPN 44 45 89 14.4 74.6
74 L (A 52 49 101 26.4 74.6
75 FHIR iR 48 46 94 192 74.8
76 fi IR 3275 52 42 94 192 74.8
77 L s Il i 45 49 94 192 74.8
78 fi I 51 43 94 192 74.8
79 Aif EJIIE-SN 49 45 94 192 74.8
80 fir 4l 56 50 106 312 74.8 TRE
81 iz iy ] 47 52 99 24.0 75.0
82 iz L E 57 54 111 36.0 75.0
83 fir A 8 43 49 92 16.8 75.2
84 7 M 54 50 104 28.8 75.2
85 iz s W 49 48 97 21.6 754
86 iz B 1| e 49 48 97 21.6 754
87 fir A e 48 49 97 21.6 754
88 iz 5 EE S 57 57 114 38.4 75.6
89 fif JITHT EA 48 47 95 192 75.8
90 iz AR SR+ 43 45 88 12.0 76.0 RE
91 fir GAIRIE: 46 47 93 16.8 76.2
92 iz NI 3 48 50 98 21.6 76.4
93 {if iR 3 62 48 110 33.6 76.4
94 fif K HEEE 54 49 103 26.4 76.6
95 fir GH H— 48 55 103 26.4 76.6
96 i YUk Sk 55 53 108 31.2 76.8
97 fir P AR 51 57 108 312 76.8
98 fif BN H 49 52 101 24.0 77.0
99 fir AP IEEE 59 54 113 36.0 77.0
100 £z NIEE-SS 43 39 82 48 772 RE
101 fir H e A 50 44 94 16.8 772
102 £ FTIHE =2, 54 52 106 28.8 7722
103 iz K B 42 45 87 9.6 774
104 7 ks AR 52 47 99 21.6 774
105 iz JRE 54 54 57 111 33.6 774
106 iz W E R 48 44 92 144 77.6
107 £z HGE AT 51 46 97 19.2 77.8
108 iz R 57 52 109 312 77.8
109 fi7 R 11 e SR 57 57 114 36.0 78.0
110 fz fhefig EEA 54 53 107 28.8 782 RE
111 7 HiER JBsiG 48 52 100 21.6 78.4
112 f7 BH — 61 51 112 33.6 784
113 fif /N — 48 45 93 14.4 78.6
114 fif BAI & 53 40 93 14.4 78.6
115 fz BEIG ek 53 52 105 26.4 78.6
116 fif AN = 59 56 115 36.0 79.0
117 £z /INEE S 48 48 96 16.8 79.2
118 iz WL B 52 56 108 28.8 79.2
119 fir %A EHA 51 50 101 21.6 79.4
120 fir FH #= 48 53 101 21.6 79.4 RE
121 fr g Rz 50 51 101 21.6 79.4
122 fir NP PR 61 52 113 33.6 79.4
123 fiz HR Rz 48 46 94 14.4 79.6
124 fiz AVNESS 59 57 116 36.4 79.6
125 B BB 57 59 116 36.4 79.6
126 fir EEr TR 63 57 120 40 .4 79.6
127 fiz AH I 60 51 111 31.2 79.8
128 fiz /INFH R 49 55 104 24.0 80.0
129 7 AR 54 58 112 312 80.8
130 1z AR —HB 46 47 93 12.0 81.0 RE
131 fiz S % 55 50 105 24.0 81.0
132 B SEH IERE 59 58 117 36.0 81.0
133 fiz RO EE 60 55 115 33.6 81.4
134 fiz AN ST 45 51 96 14.4 81.6
135 fir ol #ZEH 57 51 108 26.4 81.6
136 fiz JITH =2+ 61 61 122 40.4 81.6
137 fr ARl R 63 55 118 36.0 82.0
138 {7 Bt it 59 52 111 28.8 82.2
139 fiz vzl 61 58 119 36.4 82.6
140 fr /IR BA 54 53 107 24.0 83.0 =1
141 fiz S ] — 43 45 88 4.8 83.2
142 fiz Al #ED 49 49 98 14.4 83.6
143 fiz NS TN 59 56 115 31.2 83.8
144 fiz AL — 51 56 107 21.6 85.4
145 {7 =T 75 56 47 103 16.8 86.2
146 fir W X 51 57 108 21.6 86.4
147 {7 HR 4F 75 64 59 123 36.4 86.6
148 7 ot BN 59 64 123 36.4 86.6
149 fir B B 71 56 127 40 .4 86.6
150 £z e s 57 66 123 36.0 87.0 RE
151 {7 FrIRE i 54 63 117 28.8 88.2
152 i (E1ER)N 64 61 125 36.4 88.6
153 iz v H %88 65 62 127 36.4 90.6
154 fir K ET 70 62 132 40 .4 91.6
155 iz BH FZ 65 67 132 36.4 95.6
156 fir KEF R+ 66 71 137 40.4 96.6
157 iz ALl s 69 66 135 36.4 98.6 BBH

158 7 =Nz 66 76 142 36.4 105.6



file:///C:/Documents%20and%20Settings/gatsby/%E3%83%87%E3%82%B9%E3%82%AF%E3%83%88%E3%83%83%E3%83%97/HPnew/index.html

